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EA
X5 % £ i
EZELAEEER 1,484 A 1,720 A 3,204 A
BEER 946 A 1,063 A 2,009 A
EN LHEEERK 506 A 510 A 1,016 X
HBERTREER 436 A 548 A 984 A
THEEREER 4 A 5 A 9 A
ZEEH 538 A 657 A 1,195 X
BER 63.75 % 61.80 % 62. 70 %
Z=5n
X5 % £ i
EXLEHEER 3 A 5 A 8 A
BEEH 0 A 0 A 0 A
MR LHEEERK 0 A 0 A 0 A
HBERTREER 0 A 0 A 0 A
FTEEREEHR 0 A 0 A 0 A
ENAEREEHR 0 A 0 A 0 A
BESHREERK 0 A 0 A 0 A
ZEER 3 A 5 A 8 A
BER 0.00 % 0.00 % 0.00 %
E AN+ &S
X5 E: £ B
EXLEHEER 1,487 A 1,725 A 3,212 A
BEEH 946 A 1,063 A 2,009 A
ZEEH 541 A 662 A 1,203 A
BEE 63.62 % 61.62 % 62.55 %




